
logହ 25 =

     
1

log଼ଵ 3
⎯⎯⎯⎯⎯⎯ =

logଽ 27 =

 
logଶ 64

𝑙𝑜𝑔ଶ4
⎯⎯⎯⎯⎯⎯ =

𝑙𝑜𝑔8

𝑙𝑜𝑔2
⎯⎯⎯⎯ = logଷ 81 =

logଵ଺ 64 =
     

1

log଺ସ 4
⎯⎯⎯⎯⎯⎯ =

Change Forms

Bring Exponent down in front and vice versa/both where allowed. Multiply/Distribute if necessary. Get 
rid of fractions and decimals.

𝑙𝑜𝑔6ଷ

𝑙𝑜𝑔9௫

𝑙𝑜𝑔9௫ାଵ

𝑙𝑜𝑔5
ଵ
ଷ
⎯⎯ 𝑙𝑜𝑔√5

⎯⎯ 

log ቆ
1

3
⎯⎯ቇ log 0.1

𝑙𝑜𝑔3ଶ௫ାହ

𝑙𝑜𝑔𝑎𝑏ଶ
𝑙𝑜𝑔2𝑥ଷ

log (𝑎𝑏)ଶlog (2𝑥)ଷ

2𝑙𝑜𝑔5ଷ

7𝑙𝑜𝑔8ସ

2log 3௫ିଷ2log 3௫ିଷ

7𝑙𝑜𝑔8ସ2𝑙𝑜𝑔5ଷ
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logଵ
ଶ
⎯⎯

8 =

Square the base and the log and evaluate

Take the base and the log to the exponent −1 𝑎𝑛𝑑 𝑒𝑣𝑎𝑙𝑢𝑎𝑡𝑒 

Cube the base and the log

logଶ 4 =

logଷ 9
logଶ 4 logହ 125

logଵ
ଷ
⎯⎯

9 = logଵ
ଶ
⎯⎯

1

4
⎯⎯=logଵ

ସ
⎯⎯

1

2
⎯⎯=

log଻ 49

logଷ 4 =

logଶ 4 =

Change the base to 4

logଵ଺ 25 =

Change the base to 3

logଽ 64 = logଶ଻ 8 = log√ଷ
⎯⎯  2 =

log
√ସ

⎯⎯య 3 =

C12 - 8.3 - Rule 6 ௕
  ௡ ௡
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(logଶ 𝑥)(logଷ 4) = 4

(logହ 16)(logସ 25) = 𝑥

(log௫ 36)(log଺ 27) = 6

(logହ 𝑥)(logସ 25)(log଻ 16) = 8

logଶ 𝑥 + logସ 𝑥 = 3 2logଷ 𝑥 − logଽ 𝑥ଶ = 2

C12 - 8.3 - Rule 6 ௕೙
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